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Daily Reviews

Monday
1) Adam was collecting cans for recycling. In a month he had collected eighty bags

with ninety-two cans inside each bag. How many cans did he have total?

2) There were thirty-five adults in line at a movie theater. That is five times the
number of children in line. How many children were in line?

3) Mike had to wash 7 loads of clothes. By noon he had only washed 2 loads. How
many does he still need to wash?

4) There are eighteen people attending a luncheon. If a table can hold
five people, how many tables do they need? 18 ÷ 5 = 3 r3

5) A restaurant owner bought 5 boxes of disposable cups for $127, with each
box containing 3,296 cups. If he wanted to divvy up the cups among his 4
restaurants, with each restaurant getting the same number of cups, how
many cups should each store get?

3,296 × 5
16,480÷4

AnswersTuesday
1) An orchard owner was counting the number of apples he had total. Each of his

twenty-eight trees had eighty-one apples in it. How many apples did he have total?

2) Haley had twenty-seven dollars and her sister had nine dollars. How many times
more money does Haley have than her sister?

3) On the last day of school only 13 students showed up. If 4 of them were checked
out early, how many students were left?

4) It takes nine grams of plastic to make a ruler. If a company had
thirty-eight grams of plastic, how many entire rulers could they
make?

38 ÷ 9 = 4 r2

5) The owner of a malt shop spent $3 buying 9 boxes of cups with each box
containing 678 cups. If he expected the cups to last 6 months, how many
cups does he plan to use each month?

678 × 9
6,102÷6
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Wednesday
1) At the carnival there are thirty students selling tickets. If each student sells seventy-

three tickets, how many tickets would be sold all together?

2) At the carnival there were thirty-five people in line at the roller coaster and five at
the Ferris Wheel. How many times more people were at the roller coaster than were
at the Ferris Wheel?

3) Tom mowed his lawn 5 times total during the spring and summer. If he mowed it 3
times in the summer. How many times did he mow in the spring?

4) A pizza store had forty-three pieces of pepperoni to put on their
pizzas. If each pizza got seven pieces, how many extra pieces of
pepperoni would they have?

43 ÷ 7 = 6 r1

5) Amy's mother had 12 small photo albums filled with 68 photos in each. In
order to save some space she bought 4 larger albums with each album
having 43 pages. If she wanted to put all her pictures into the large albums,
with the same number of pictures in each, how many pictures should be in
each album?

68 × 12
816÷4

AnswersThursday
1) Mike was unpacking boxes of ornaments. If he has sixty-one boxes with ninety-two

ornaments in each box, how many ornaments does he have all together?

2) A pet store sold twenty-one cats, which is three times as many as the number of
dogs they sold. How many dogs did they sell?

3) Jerry was playing the ring toss at the carnival. All together he used 14 rings. If each
game you get 7 rings, how many games did he play?

4) Cody's dad bought fifty-five meters of string. If he wanted to cut
the string into pieces with each piece being eight meters long, how
many full sized pieces could he make?

55 ÷ 8 = 6 r7

5) A king size candy bars costs $2 with each candy bar having 1,092
calories. If you bought 5 candy bars and took 4 days eating them (eating
the same amount each day) how many calories would you consume a day?

1,092 × 5
5,460÷4
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Friday
1) A bouquet of flowers had forty-five daisies in it. If a florist had eighty-nine

bouquets, how many daisies did they have total?

2) John was playing a video game. It took him eight lives to beat the first world. It
took two times as many to beat the second world. How many lives did he use on the
second world?

3) A chef can cook 2 meals in a minute. How many meals could he cook in 6 minutes?

4) Tiffany had twenty songs on her mp3 player. If she wanted to put
the songs equally into three different playlists, how many songs
would she have left over?

20 ÷ 3 = 6 r2

5) Edward and Olivia were comparing their Halloween candy. Edward received
2 times as much candy as Olivia received. Edward combined his candy with
Olivia's 69 ounces of candy. They then decided to split it into evenly into 3
piles. How many ounces of candy would be in each pile?

69 × 2
138÷3
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